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Introduction

1.1 Objectives
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SZEQO2E 08¢t 7tdel A|AEE unit

& A= Point Of Sale (POS) System=
CHRI2 PG unit testing SH7| ¢

—

== &AM H2E &2 AM85t0] ZutE 7| Fotot.
1.2 References
[2017SE_B][TP#2]SRA_T6_ver3
[2017SE_B][TP#2]SDS_T6_ver2
[2017SE_B][TP#3]UTP_T6_ver1
Unit test case specification

2.1  Test case specification identifier

o
°
Pass/Fail CriteriaE H2|5t1 0|2 +=&5l7| 2Tt test design & test casesE M %ot A

Identifier Input Expected Output
Control Suite
POS_UTC001 2.1.12] POS control0f £t3t Test SuiteO|LC}.
SETTLE_SIGN = 0;
SETTLE_SIGN — 1
POS_UTCO001_001 key = (any key value except for
key — SETTLE
SETTLE);
POS_UTC001_002 key = TERMINATE; D230 =32
POS_UTC001_003 key = SALEQ! 420 CHSH Test Suite
barcode = T;
control = ADD;
su->items[0].count == 1
barcode = 2; su->items[k].count

POS_UTC001_003_C control = ADD;

su->items[1].count ==

barcode = 3;
control = ADD;

su->items[2].count == 1

— su->items[k].count + 1
0<K<7
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barcode = 4;
control = ADD;

su->items[3].count ==

barcode = 5;
control = ADD;

su->items[4].count == 1

barcode = 6;
control = ADD;

su->items[5].count ==

barcode = 7;
control = ADD;

su->items[6].count == 1

POS_UTC001_003_V

barcode = 1;
control = ADD;

1
I
—

innerStorage->list[0].volume

barcode = 2;
control = ADD;

1
1
—

innerStorage->list[1].volume

barcode = 3;
control = ADD;

1l
1
—

innerStorage->list[2].volume

barcode = 4;
control = ADD;

1
1
—

innerStorage->list[3].volume

barcode = 5;
control = ADD;

1l
1
—

innerStorage->list[4].volume

barcode = 6;
control = ADD;

1
1
—

innerStorage->list[5].volume

barcode = 7;
control = ADD;

1
1
—

innerStorage->list[6].volume

innerStorage->list[k].volume
— innerStorage->list[k].volume
+ 1

0 <K<7

POS_UTC001_003_1S

barcode = 1;
control = ADD;

innerStorage->total_sales == 1000

innerStorage->total_sales
— innerStorage->total_sales +

su->items[0].price

POS_UTC001_003_2S

barcode = 2;

innerStorage->total_sales

(0]
YrE Q2]
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control = ADD; — innerStorage->total_sales +
innerStorage->total_sales == 1500 | su->items[1].price
barcode = 3; innerStorage->total_sales
POS_UTC001_003_3S | control = ADD; — innerStorage->total_sales +
innerStorage->total_sales == 3000 | su->items[2].price
barcode = 4; innerStorage->total_sales
POS_UTC001_003_4S | control = ADD; — innerStorage->total_sales +
innerStorage->total_sales == 500 | su->items[3].price
barcode = 5; innerStorage->total_sales
POS_UTC001_003_5S | control = ADD; — innerStorage->total_sales +
innerStorage->total_sales == 800 su->items[4].price
barcode = 6; innerStorage->total_sales
POS_UTC001_003_6S | control = ADD; — innerStorage->total_sales +
innerStorage->total_sales == 1200 | su->items[5].price
barcode = 7; innerStorage->total_sales
POS_UTC001_003_7S | control = ADD; — innerStorage->total_sales +
innerStorage->total_sales == 2000 | su->items[6].price
barcode = T;
su->amount — su->amount +
POS_UTC001_003_1A | control = ADD; ) )
su->items[0].price
su->amount == 1000
barcode = 2;
su->amount — su->amount +
POS_UTCO001_003_2A | control = ADD; ] )
su->items[1].price
su->amount == 1500
barcode = 3;
su->amount — su->amount +
POS_UTC001_003_3A | control = ADD; ) )
su->items[2].price
su->amount == 3000
barcode = 4;
su->amount — su->amount +
POS_UTCO001_003_4A | control = ADD; ) )
su->items[3].price
su->amount == 500
barcode = 5;
su->amount — su->amount +
POS_UTCO001_003_5A | control = ADD; ) )
su->items[4].price
su->amount == 800
barcode = 6;
su->amount — su->amount +
POS_UTCO001_003_6A | control = ADD; ) )
su->items[5].price
su->amount == 1200
barcode = 7, su->amount — su->amount +
POS_UTCO001_003_7A . .
control = ADD; su->items[6].price

=
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su->amount == 2000

barcode = 1;
control = ADD;

innerStorage->list[0].volume = 0;

barcode = 2;
control = ADD;

innerStorage->list[1].volume = 0;

barcode = 3;
control = ADD;

innerStorage->list[2].volume = 0;

barcode = 4; key — ERROR
POS_UTCO01_003_E control = ADD;

innerStorage->list[3].volume = 0;

barcode = 5;

control = ADD;

innerStorage->list[4].volume = 0;

barcode = 6;

control = ADD;

innerStorage->list[5].volume = 0;

barcode = 7;

control = ADD;

innerStorage->list[6].volume = 0;

barcode = (0 < K < 7)0|2|9] H%
POS_UTC001_003_2E key — ERROR

control = ADD;
POS_UTC001_004 key = REFUNDQ! &20f CH$t Test Suite

receipt = 2%t 3T H=

innerStorage.list[0].volume == 100

receipt = 2%t 3T H=

innerStorage.list[1].volume == 100

POS_UTC001_004_V

receipt = S8t EFF Wz

innerStorage.list[2].volume == 100

receipt = 2%t T Hz

innerStorage.list[3].volume == 100

AL
CC)):I_I_

ol
rE
fot

receipt = F2%

innerStorage.list[4].volume == 100

receipt = R2% T H

innerStorage.list[5].volume == 100

innerStorage->list[k].volume

innerStorage->list[k].volume+1

0 <K<7)

—

=
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receipt = RE3%t 5T H=

o
innerStorage.list[6].volume ==

=

100
receipt = 2%t I+F HZ
sm->slist[0].sale->flag == "1
receipt = R2% Y5 Hz
sm->slist[1].sale->flag == "1
receipt = F23% FFF Hz
sm->slist[2].sale->flag == "1’ sm->slist[k].sale->flag — ‘1’
receipt = FR2% ExF 2
POS_UTCO001_004_F
sm->slist[3].sale->flag == "1’
receipt = FR2% 53 = 0<K<7?
sm->slist[4].sale->flag == "1
receipt = RE3%t T H=
sm->slist[5].sale->flag == "1’
receipt = R2% T H
sm->slist[6].sale->flag == "1’
innerStorage.total_refund —
receipt = F2%t T HZ _ 9 -
POS_UTCO001_004_1T innerStorage.total_refund + sm-
innerStorage.total_refund == 1000 .
>slist[0].sale->amount;
innerStorage.total_refund —
receipt = FR2% ExF Bz ' d -
POS_UTC001_004_2T | . innerStorage.total_refund + sm-
innerStorage.total_refund == 1500 )
>slist[1].sale->amount;
innerStorage.total_refund —
receipt = BT 4D WS ! ge-total-
POS_UTCO001_004_3T | . innerStorage.total_refund + sm-
innerStorage.total_refund == 3000 )
>slist[2].sale->amount;
innerStorage.total_refund —
receipt = 2%t I3 H= , J -
POS_UTC001_004_4T | innerStorage.total_refund + sm-
innerStorage.total_refund == 500 )
>slist[3].sale->amount;
innerStorage.total_refund —
receipt = QBT 4D WS ! ge-total-
POS_UTCO001_004_5T innerStorage.total_refund + sm-
innerStorage.total_refund == 800 )
>slist[4].sale->amount;
innerStorage.total_refund —
receipt = 72 T H= , ? -
POS_UTC001_004_6T | innerStorage.total_refund + sm-
innerStorage.total_refund == 1200 )
>slist[5].sale->amount;
innerStorage.total_refund —
receipt = 2% T H _ 9 -
POS_UTCO001_004_7T | . innerStorage.total_refund + sm-
innerStorage.total_refund == 2000 )
>slist[6].sale->amount;
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POS_UTC001_004_C

receipt = F23% FFF Hz

sm->rcount == 1

sm->rcount — sm->rcount +1

POS_UTC001_004_E

sm->slist[k].sale->flag = "1’

(0 £ K < sm->scount)

POS_UTC001_004_CS

*0|0| 2= 2tmzEl ST YHY | key — ERROR

gg 2y

receipt = 2% FFF Bz

ru->receipt.code.stringO| ru->receipt.code.string —

YYYYMMDDHHmMme| =i 3 EQI

Al ol

"“YYYYMMDDHHHmMmM"

POS_UTC001_005

key = SETTLEQ! &f2H0f CHS Test Suite

POS_UTC001_005_V

innerStorage.list[0].volume == 100

innerStorage.list[1].volume == 100

innerStorage.list[2].volume == 100

innerStorage.list[3].volume == 100

innerStorage.list[4].volume == 100

innerStorage.list[5].volume == 100

innerStorage.list[6].volume == 100

innerStorage->listfk].volume —
100
0 <K<7

POS_UTCO001_005_S

innerStorage.total_sales ==

innerStorage->total_sales — 0

POS_UTCO01_005_R

innerStorage.total_refund ==

innerStorage.total_refund — 0

POS_UTC001_006 key = STOCKQ! 2&0f| TSt Test Suite
POS_UTCO001_006_T innerStorage->time == posTime TRUE

POS_UTC001_007

key = PAYMENTQ! #20f Cist Test Suite

POS_UTC001_007_1C

POS_UTC001_007_2C

POS_UTC001_007_3C

POS_UTC001_007_4C

POS_UTC001_007_5C

POS_UTC001_007_6C

POS_UTC001_007_7C

su->money - su->amount ==

su->change — su->money — su-

>amount

su->code.string —

YYYYMMDDHHmm &EEjo| ZX}
™ ALOI
= HdHd

sm->slistOf| itemO| fL} =7}

sm->scount — sm->scount + 1

POS_UTC001_007_S

sm->scount == 1

sm->scount — sm->scount + 1

POS_UTC001_007_P

sm->slist is NOT NULL

TRUE

(0]
YrE Q2]
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POS_UTC001_007_CS

su->code.stringO|
YYYYMMDDHHmMmm2| Zoi ZEQI

x| ol

su->code.string —
“YYYYMMDDHHHmMmM"

Library Suite

POS_UTCO002

2.29| Touch Screen Interface@t 2.3 Customer Screen InterfaceOf 2t

Test SuiteO|LCt.

kb = NULL; su = NULL;

N A32el 7|2 HEIE 3t
POS_UTC002_001_1 ru = NULL; innerStorage = NULL;
Ho| =
cmd = 0;
kb = NULL; su = NULL; N
WM7E e & U oin B
POS_UTC002_001_2 ru = NULL; innerStorage = NULL; o =a
= =
cmd = 1 =
kb = NULL; su = NULL; N
_ Hof/etE FAa RE 2= 0
POS_UTC002_001_3 ru = NULL; innerStorage = NULL;
AXE 53
cmd = 2;
key = SALE o AEOlM FHMTE YEY
kb = NULL; su = NULL; = e HRE &Y
POS_UTC002_001_4 ] o
ru = NULL; innerStorage = NULL; | &3 2h2 Ztof| oI5
cmd = 3; *kb — ADD/MINUS
key = SALE

POS_UTC002_001_5

kb = NULL; sulfl £3g o4& ©oj
g AE HE

ru = NULL; innerStorage
cmd = 4,

key = PAYMENT

kb = NULL; su0f| =3g AZ Ttojf

=

su2| memberS ZoHO| ZF =
POS_UTC002_001_6 2| AE A 24 = -
ru = NULL; innerStorage = NULL;
cmd = 4;
key = REFUND;
kb = NULL; su = NULL;
! ' o =2 oy arx|l =
POS_UTC002.0017 | ru0ll 3% ot2 AE 2AE A ;‘:—l memberS ZHY =H &
2 innerStorage = NULL; B
cmd = 3;
AE QAH] Team 6 9
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key = STOCK;
kb = NULL; su = NULL;

] N innerStorage2| memberE ZGH
POS_UTC002_001_8 ru = NULL; innerStorageOfl & X{ Xf of oA Sz
1 MEE MY ~nEn
cmd = 3;
key = CANCEL;
kb = NULL; su = NULL; fof/etE 20| GHEoE F
POS_UTC002_001_9 ) o =
ru = NULL; innerStorage = NULL;, | 2ES &§
cmd = 3;
key = ERROR;
kb = NULL; su = NULL; o =
POS_UTC002_001_10 _ oz == =4
ru = NULL; innerStorage = NULL;
cmd = 3;
key = TERMINATE;
kb = NULL; su = NULL; EATI7F KM OEEE HARC
POS_UTC002_001_11 ) - o =
ru = NULL; innerStorage = NULL; | £ OHX|1 Z2ES =8
cmd = 3;
07 A329 Il HEHES 3
POS_UTC002_002_1 su = NULL; ru = NULL; cmd = 0;
Ho| =4
key = SALE; ru = NULL, emd = 1; | 28 22 HEZ HAHCE
POS_UTC002_002_2 su = sull| 28 4F Eof 2|& | HOf 2|AE0 F=7h ZAE g
E ¢ HE =4
key = PAYMENT; ru = NULL;
cmd = 1; su®l memberES ZECHO| SHF =
POS_UTC002_002_3 N -
su = sudl| = AFE EOf 2/ |
E ¢
key = REFUND; su = NULL;
cnd = 1; ru®| memberES ZUH0| St =
POS_UTC002_002_4 . —
ru = rudf] EEE B2 48 22 | ¥
E ¢
Print Suite
POS_UTC003 2.49| Printer Interface0| 2t3+ Test SuiteO|LCt.

POS_UTCO003_1

key = PAYMENT; ru = NULL;
su = sulf| Y2 WM AE T
0f 2lAE e

innerStorage = NULL; sm = NULL;

sale_.YYYYMMDDHHmm.txt S EH
of m 4
(YYYYMMDDHHmMmM —

su->code.string)

POS_UTC003_2

key = REFUND; su = NULL;

refund_YYYYMMDDHHmMm.txt

SRS

Team 6
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ru = rulf D2 dge e o | FEjol o 4y
E 2[2E MY (YYYYMMDDHHmm —

innerStorage = NULL; sm = NULL; | ru->receipt.code.string)
key = STOCK; su = NULL ru =

NULL; stock_YYYYMMDD.txt FEHS| m}
POS_UTC003_3 innerStorage = innerStorage0ff ¥ | & M4
N2 HEE &Y (YYYYMMDD — posTime)
sm = NULL;
key = SETTLE; su = NULL ru =
NULL; N _
, . ., | settle_YYYYMMDD.txt &Ef2| It
innerStorage = innerStorage0i &
POS_UTCO003_4 o dd

N AL MEHE &
sm = smOf| & St =7l

[
7|Z0] gt HIOIHE &Y

=

(YYYYMMDD — posTime)

A
=2

Server Suite
POS_UTC004 2.59| Data Access Interface0f| 28t Test SuiteO|LCt.
innerStorage = innerStorage®| A{ | YYYYMMDD_product.txt HE{2]

Het S7l=iet W&E AE2X] o | o 4y

POS_UTC004 EE &€ YYYYMMDD_sale_management.t
sm = smOi| MHO| CI0IE & T | xtHEf| m 4y

o 7|82 &Y (YYYYMMDD — posTime)

2.2  Test items
2.19] Test case specificationS &=

2.3 Input specifications

o3t
P

2.12| Test case specification=

24 Output specifications

P

2.12| Test case specificatione &
3 Environmental needs
-gcc 5.4.0H7H

-cygwin64

[HAE Q=) Team 6 11
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-CuTest-1.5
4 Unit test summary report
4.1  Test summary report identifier
Identifier Result
POS_UTC001_001 OK
POS_UTC001_002 oK
POS_UTC001_003_C oK
POS_UTC001_003_V oK
POS_UTC001_003_1S OK
POS_UTC001_003_2S OK
POS_UTC001_003_3S oK
POS_UTC001_003_4S OK
POS_UTC001_003_5S OK
POS_UTC001_003_6S OK
POS_UTC001_003_7S OK
POS_UTC001_003_1A oK
POS_UTC001_003_2A OK
POS_UTC001_003_3A OK
POS_UTC001_003_4A oK
POS_UTC001_003_5A oK
POS_UTC001_003_6A oK
POS_UTC001_003_7A oK
POS_UTC001_003_E oK
POS_UTC001_003_2E oK
POS_UTC001_004_V oK
POS_UTC001_004_F OK
POS_UTC001_004_1T OK
POS_UTC001_004_2T OK
POS_UTC001_004_3T oK
POS_UTC001_004_4T OK
POS_UTC001_004_5T OK
POS_UTC001_004_6T OK
POS_UTC001_004_7T oK
[HAE Q=) Team 6 12
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POS_UTCO001_004_C OK
POS_UTCO001_004_E OK
POS_UTCO001_004_CS OK
POS_UTCO001_005_V OK
POS_UTCO001_005_S OK
POS_UTCO01_005_R OK
POS_UTCO001_006_T OK
POS_UTCO001_007_1C OK
POS_UTCO001_007_2C OK
POS_UTCO001_007_3C OK
POS_UTCO001_007_4C OK
POS_UTCO001_007_5C OK
POS_UTCO001_007_6C OK
POS_UTCO001_007_7C OK
POS_UTCO001_007_S OK
POS_UTCO001_007_P OK
POS_UTCO001_007_CS OK
POS_UTC002_001_1 OK
POS_UTC002_001_2 OK
POS_UTC002_001_3 OK
POS_UTC002_001_4 OK
POS_UTC002_001_5 OK
POS_UTC002_001_6 OK
POS_UTC002_001_7 OK
POS_UTC002_001_8 OK
POS_UTC002_001_9 OK
POS_UTC002_001_10 OK
POS_UTC002_001_11 OK
POS_UTC002_002_1 OK
POS_UTC002_002_2 OK
POS_UTC002_002_3 OK
POS_UTC002_002_4 OK
POS_UTCO003_1 OK
POS_UTCO003_2 OK
POS_UTCO003_3 OK
POS_UTCO003_4 OK
POS_UTCO004 OK
[HAE 3] Team 6 13
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4.2  Evaluation
Total test case : 66
Passed : 66

Failed : O
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